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PART 1 (10 Marks)

Circle the BEST answer for each of the following independent questions.

1.

Decision makers vary widely in the types of decisions they make, the methods of decision making they employ, the information they already possess or can obtain from other sources, and their ability to process information.  Consequently, for information to be useful there must be a linkage between these users and the decisions they make.  This link is


a.
relevance.



b.
reliability.



c.
understandability.



d.
materiality.



e.
none of the above

2.

How should an unusual event not meeting the criteria for an extraordinary item be disclosed in the financial statements?
a.
Shown as a separate item in operating revenues or expenses if material and supplemented by a footnote if deemed appropriate.

b.
Shown in operating revenues or expenses if material but not shown as a separate item.

c.
Shown net of income tax after ordinary net earnings but before extraordinary items.

d.
Shown net of income tax after extraordinary items but before net earnings.



e.
none of the above.
3.

Which of the following is a generally accepted method of determining the amount of the adjustment to bad debts expense?


a.
A percentage of sales adjusted for the balance in the allowance



b.
A percentage of sales not adjusted for the balance in the allowance



c.
A percentage of accounts receivable not adjusted for the balance in the allowance

d.
An amount derived from aging accounts receivable and not adjusted for the balance in the allowance



e.
none of the above.
4.

The use of a Discounts Lost account implies that the recorded cost of a purchased inventory item is its


a.
invoice price.



b.
invoice price plus the purchase discount lost.



c.
invoice price less the purchase discount taken.



d.
invoice price less the purchase discount allowable whether taken or not.



e.
none of the above.
5.

Inventory may be recorded at net realizable value if



a.
there is a controlled market with a quoted price.



b.
there are no significant costs of disposal.



c.
the inventory consists of precious metals or agricultural products.



d.
all of these.



e.
none of the above.
6.

If a material amount of inventory has been ordered through a formal purchase contract at the balance sheet date for future delivery at firm prices,


a.
this fact must be disclosed.



b.
disclosure is required only if prices have declined since the date of the order.



c.
disclosure is required only if prices have since risen substantially.



d.
an appropriation of retained earnings is necessary.



e.
none of the above.
7.

The test of marketability must be met before securities owned can be properly classified as 



a.
intangible assets.



b.
long-term investments.



c.
current assets.



d.
investments.



e.
none of the above.

8.

A loss on a company's temporary investments from the application of the lower of cost and market should be reflected in the current financial statements as


a.
an extraordinary item shown as a direct reduction from retained earnings.



b.
a current loss resulting from holding securities.



c.
a note or parenthetical disclosure only.



d.
other comprehensive income and deducted in the equity section of the balance sheet.



e.
none of the above.
9.

For a temporary investment in bonds, which of the following is true?


a.
It is usually purchased at its face value.



b.
The discount or premium is not amortized.



c.
Because it is a temporary investment, interest is not paid to the investor.



d.
Any interest that is earned is adjusted for the amortization of the discount or premium.



e.
none of the above.
10.

When calculating the amount of interest cost to be capitalized, the concept of "avoidable interest" refers to


a.
the total interest cost actually incurred.



b.
a cost of capital charge for shareholders' equity.

c.
that portion of total interest cost which would not have been incurred if expenditures for asset construction had not been made.

d.
that portion of average accumulated expenditures on which no interest cost was incurred.



e.
none of the above
PART II.
(35 Marks)
Question 1.
(10 Marks)

Neer Corp. purchased merchandise during 2002 on credit for $150,000; terms 2/10, n/30. All of the gross amount payable except $30,000 was paid within the discount period. The remainder was paid within the 30-day term. At the end of the annual accounting period, December 31, 2002, 90% of the merchandise had been sold and 10% remained in inventory. The company uses a periodic system.

Instructions
(a)
Assuming that the net method is used for recording purchases, prepare the entries for the purchase and two subsequent payments.

 (a)
Purchases 

147,000


Accounts Payable 


147,000




(To record the purchase at net amount:




.98 × $150,000 = $147,000.)

Accounts Payable 

117,600



Cash 


117,600




(To record payment within the discount period:




$150,000 – $30,000 = $120,000;
 .98 × $120,000 = $117,600.)


Accounts Payable 

29,400


Purchase Discounts Lost 

600



Cash 


30,000



(To record the final payment.)

(b)
What dollar amounts should be reported for the final inventory and cost of goods sold under the (1) net method; (2) gross method?  Assume that there was no beginning inventory.

(b)
(1)
Net method:



Purchases:





    $147,000  


Final inventory: 10% × $147,000 =


        14,700  


Cost of goods sold: 90% × $147,000 =
$132,300

(The $600 discount lost is reported in the other expense section of the income statement.)


(2)
Gross method:

Purchases:
$150,000

Purchases:
$150,000

Less purchase discounts:


Less purchase discounts:


.02 × $120,000 =
      2,400


.02 × $120,000 =
      2,400
Goods available
147,600
OR
Goods available
147,600

Final inventory:


Final inventory:


10% × $147,600 =
    14,760


10% × $150,000 =
    15,000
Cost of goods sold:


Cost of goods sold:


90% × $147,600 =
$132,840


$147,600 – $15,000 =
$132,600
(Assuming that the $2,400 discount is


(Assuming that the $2,400 discount is used prorated between the cost of goods sold,

to reduce cost of goods sold.  Final inventory 90 percent, and the final 



is carried at the gross amount.)

inventory, 10 percent.)
Question 2.  (25 Marks)

The information below relates to Dryer Company's temporary investments in 2002 and 2003.

(a)
Prepare the journal entries for the following transactions.

May 1, 2002
Purchased $150,000 par value of Cole Company bonds at 98 plus accrued interest. The bonds pay interest annually at 9% each December 31.  Broker's commission was $1,500.

September 1, 2002
Sold $75,000 par value of Cole Company bonds at 95 plus accrued interest.  Broker's commission, taxes, and fees were $750.

September 5, 2002
Purchased 2,400 common shares of Ott, Ltd. for $25 per share.  The broker's commission on the purchase amounted to $900.

December 31, 2002
Make the appropriate entry for the Cole Company bonds.

December 31, 2002
The market prices of the temporary investments at December 31 were: Ott, Ltd. common shares, $20 per share; and Cole Company bonds, 99. Make the appropriate entry.

July 1, 2003
Dryer sold 1/2 of the Ott, Ltd. common shares at $23 per share.  Broker's commissions, taxes, and fees were $410.

December 1, 2003
Dryer purchased 400 common shares of Ely, Ltd. at $40 per share.  Broker's commission was $300.

December 31, 2003
Make the appropriate entry for the Cole Company bonds.

December 31, 2003
The market prices of the trading securities at December 31 were: Ott, Ltd. common shares, $28 per share; Cole Company bonds, 98; and Ely, Ltd. common shares, $42 per share.  Make the appropriate entry.

(b)
Present the financial statement disclosure (balance sheet and income statement) of Dryer Company's transactions in trading securities for each of the years 2002 and 2003. Appropriate financial statement subheadings must be disclosed.

May 1, 2002*

Temporary Investments 

148,500

Interest Revenue 

4,500


Cash 


153,000

September 1, 2002

Cash ($71,250 + $4,500 – $750) 

75,000

Loss on Sale of Temporary Investments 

3,750


Temporary Investments


74,250


Interest Revenue 


4,500

September 5, 2002

Temporary Investments

60,900


Cash 


60,900

December 31, 2002

Cash 


6,750


Interest Revenue 


6,750

December 31, 2002

Loss on Temporary Investments  ($135,150 – $122,250)

12,900


Investment Allowance 


12,900

*If Interest Receivable is debited for $4,500 on May 1, then the December 31, entry is:

Cash 


6,750


Interest Receivable 


4,500


Interest Revenue 


2,250

July 1, 2003

Cash ($27,600 – $410) 

27,190

Loss on Sale of Temporary Investments

3,260


Temporary Investments


30,450

December 1, 2003

Temporary Investments

16,300


Cash 


16,300

December 31, 2003

Cash 


6,750


Interest Revenue 


6,750

December 31, 2003

Investment Allowance

12,900


Investment Income 


12,900

The market value of the portfolio is above cost therefore the allowance from the previous year is now recovered.

(b) 

December 31,

Balance Sheet
   2002

   2003

Current assets:


Temporary investments (lower of cost and market)
$122,250
$121,000
Income Statement

Other revenue and gains:


Investment income (or gains)

$12,900


Interest Revenue
$  6,750
6,750

Other expenses and losses:


Loss on sale of temporary investments
3,750
3,260


Loss on temporary investments
12,900

PART III.  (15 Marks)

You graduated last week and will be starting your new job next Monday.  You know that earnings management is a hot topic these days.  You really believed that only a few companies resorted to unethical measures.  That is why you became so interested in the conversation taking place among the three people in front of you in the Stones line up.

Your friend joined you in the line.  You prompted him to be quiet and listen.  Your friend had graduated with you and was working at one of the large accounting firms.

#1:
Do you have any suggestions?”

#2:
“Yes, I’ve given this a lot of thought.  For one thing, I believe we have set up a larger than necessary allowance for doubtful accounts.  Also, our allowance for warranty work is really excessive.  We need to reduce both accounts significantly.”

#1:
“Well, both amounts are based on sales dollars, and, as you know, sales were up significantly this year.”

#3:
“Yes, because we loosened our credit policy.  So we are going to have more uncollectible accounts.”

#2:
“Nonsense.  We just have to keep on top of the accounts.  Nobody thought we would collect the large account that was about three months overdue.  The cheque came in today.  So, we should be able to reduce the allowance by at least that much.”


“Another thing we have to look into is the repair and maintenance account.  There most likely are items in this account that can be caplitalized.


“What about that old inventory in the old warehouse?  Do we have to write it off this year?”

#3:
“Yes, we do.  You know the LCM rule – well, it’s really worth very little.”

#2:
“LCM – we know the cost, but we can’t establish a market value.”

#3:
“Only because we can’t find a buyer – which most likely means it is worth nothing.”

#2:
“Don’t give up so easily – we’ve hardly tried.”

#1:
“We could look at our capital assets.  Would there be any reason to change our depreciation policies?  Are the estimates reasonable?

#2:
“Well, you’re getting with the program!  Good thinking.  We use straight line for everything.  But you know that computer equipment we purchased three years ago?  I would say that it would be more reasonable to use an accelerated method.


“That would put most of the expense in the first couple of years.  This is worth looking at.  Well, we made it to the front – how many tickets do we want?”

The next Monday when you went to work, you were taken to meet the president

and vice-present.  To your surprise, you walked into the board room to meet #1 and #2 from the Stones line.  They were most gracious.  Since your boss (the chief accountant) had been called out of town, they invited you to have lunch with them.

During the day, the vice-president (#1) sent you a memo requesting you to make the following journal entries:

Allowance for doubtful accounts

150,000


Bad debts expense




150,000

(to record payment from Corsan)

Building




  23,000
  


Repair and maintenance



  23,000

(transfer the cost of the new wall 

at the south end of the plant)

Retained earnings



  60,000

Tax payable




  40,000

Accumulated depreciation


  
100,000

(To record retroactive changes due to

change in accounting policy)

Accumulated depreciation


  26,000


Depreciation expense



  26,000

(To adjust depreciation expense on 

computer system.  Reduction caused

by the change in policy.)

You were able to verify that the company had received a cheque in the amount of $150,000 from Corsan last Friday.  The account was about three months overdue at the time.

The plant manager told you the wall had been damaged when an explosion occurred in the plant. 

The next day when the auditors arrived, you had a few more surprises coming.  The junior auditor assigned to the audit was your friend.  And he was really surprised when #1 and #2 came to greet them.  It was during this brief meeting that you learned #3 had been fired.  She had been the chief financial officer.  Your boss, the chief accountant, most likely will be appointed chief financial officer when he returns to the office.

Required:
Analyze the case.  Put yourself in the shoes of each person in the case.  Discuss any ethical issues.  Remember to discuss GAAP for all accounting issues.  Your recommendations must be in keeping with GAAP.

A Solution

Overview
Company

? Public (being audited)



√
? Manufacturer (offers warranties)

√
Industry – not known

Users:

Creditors (C)





√
Shareholders (C)




√
Management (A)



√
Other reasonable



√
Role:

Accountant, reporting to the Chief Accountant
√
FRO

(A/C)



√
Players:

President:
Wants the bonus






√


Wants aggressive accounting to achieve required earnings.



Seems quite willing to bend the rules.

Vice-Pres:
Wants the bonus






√


Initially refrained from any unethical suggestions.



Came on board with a reasonable suggestion



Began to cooperate completely

CFO:

Was not party to unethical suggestions.



√


Was fired

Chief Acct.
Sent away on business





√
No idea what this person’s thinking about the suggestions to fix the earnings figure.
Could be promoted to CFO – does he/she know this?

Promotion may depend upon Chief Acct. cooperating with the fixing of earnings.

Auditor:
Your friend is a junior on the audit team



√

Your friend overheard the conversation among the three executives.

You

Overheard plans of executives




√

Have been advised of possibility of promotion and raise by VP and Pres.


Have received list of JE’s from VP to be made.  You are concerned about these JE’s and make some inquiries.

What should you do about the memo from the VP?

You should look into the items and write a memo to your superior, the Chief Accountant.  Your memo should include identification of each issue, GAAP for each issue, options for each issue, and a recommendation for each issue as follows.









√
Issue 1.
Reduce bad debts expense (or ADA)
GAAP
Amount is established by using the Income Statement method (“based on sales”).  The amount determined to be uncollectible is the amount of bad debts expense matched with sales for the period.  The ADA is increased by this amount.

Collection of an account does not affect bad debts expense.  The only time collection of an account affects ADA is if the account had previously been written off.

The Corson account had not been written off.

Options:
Do not change bad debts expense or ADA by the amount paid by Corson.

Recommendation:
No change to ADA or BD Exp.
Issue 2.
Capital vs. Revenue expenditures (Capitalize vs. expensing)

GAAP

Betterment, Improvement, Addition vs. R & M



An addition would be capitalized


A betterment or improvement would be capitalized only if it increased useful life or increased quality or quantity of output.


Maintenance – regularly maintaining assets to ensure they function properly thoughout their useful life (oil changes, new brakes, new tires, etc.) must be expensed.
Repair – fix something that has broken or been damaged – must be expensed.

Options:
Charge to R & M.  This is a repair of a wall damaged by an explosion.  Repairing the wall does not give additional useful life, and does not increase quality and quantity of output.

Recommendation:
Cannot capitalize (not GAAP)

Issue 3.
Change in Policy

GAAP:
Information must be presented consistently from one period to another.  A change in policy should not be made simply to have an impact on earnings.


However, if there is a better method in a given circumstance, then the policy should be changed.


Change in policy requires retroactive treatment.  That is, all years reported must be restated.  Years prior to those reported have the change in opening retained earnings of the first year being reported.


Note disclosure is required.

Options:
Stay with straight line


Change to an accelerated method

Recommendation:
Technology changes quickly.  Therefore, a computer system is most likely to be more valuable in the early years.  Change in policy from SLN to an accelerated method can be justified.


Change to an accelerated method.
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